[ Efficien

cy vs vertpos |

~ 0.5

20.45F
2

2 0.4F
(&)

$0.35F
0.3
0.25F
0.2F
0.15F
0.1
0.05

ICI
TTTT

effi

.................................................
.................................................
................................................

...............................................

....... g i

1.0

Ratio

o
©
a

=
2
N

10 1 10 0?
TP vertr (cr%)

—=— DQM_TT _original_time

Effici —e— DQM_TT_newscoreonlyINIT_time
ICIeNd __,__ pQM_TT_modified_time

~ 0.5

20.45F

o

>

2
50.35F
0.3F

0.25F
0.2

0.15F
0.1+

0.05F

effic

Vs

Ratio
N
T

N
e N
. -
---------------------------------------------
------
N N + 1 N
o e o WP L
.................. PR CIVIVY 0 V)

0.95!

-20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.2r
> o
.0.18f
£
50.16
20.14
oy
20.12
0.1
0.08
0.06
0.04F

0.02

e

effic

.............................................

..............................................

1.0

Ratio
=

0.95

oy

0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


